AR
BRATRETH TOREERFANMCDIEHEAFTITHEEIDOIEL (FH4FE)

READENMZXT S KiEADEMZFTF S KA DKEEMIZXET D

BR SHEATTHEHE SHEAFTHIEE HHEAMTHHE

B xerie (0% /25) HRETH 4 10°L/ ) HRETH & 10°L/ )
1 NGB X 2,144,263,492 |I&H)IIEX 1,635,546 | =@t 2,175,960
2 |8 EH 219,111,788 | F~ & 63,199 |JIIIE T )I[ 15X 2,027,646
3 | R LERILALET 210,007,378 | F£iEH 49,718 |#EEHERRX 1,768,270
4 |EEEN 32,443,410 | HEEMEBRX 29,572 |HEEHMRE 1,045,530
5 |HEMREK 23,025,990 |#&BEE™ 20,120 | #EEHRHRX 926,734
6 |#&R™ 13,812,710 | =@ 20,094 | S EEARZE)I| BT 415,732
7 |HBEMEBERK 12,120,086 |/NAEET 14,013 | F~EH 352,380
8 | S EEERZE)I|ET 10,378,432 | #EHMARIIX 13,056 | R R4ATH 289,939
9 |HEBEREMHEX 9,776,007 |#ETHERE 12,797 | RAA T ERFE4R AT 183,655
10 |FEH 8,334,317 | B4R T AR FE4R AT 11,798 |iEEMEBREX 142,094
11 |HEERERTRRX 6,955,936 |fEEmHETX 11,018 | FixmH 139,087
12 |EERFIZERX 5,994,908 |#EHEILX 10,908 |#EHAR)IX 114,178
13 |HEEMELX 4,210,307 |#ETHR 10,589 |#&iEH#ADHE 109,970
14 | B4R AR BH AT 3,827,147 |#EEHERRK 10,004 |#&ZBE ™ 107,007
15 |BEmARIIK 3,800,980 |HEMERR 9,962 | #Ei#EmH 101,421
16 |HEEH#RX 2,948,834 | JIlFHHREX 9,438 | #EEMEILR 97,230
17 |HE_=HT 2,537,000 | &R 8,286 | B4A L AR FHHET 96,389
18 | K#0h 2,296,074 |IBEHER 8,155 | A¥0h 92,339
19 |HEEMEFX 2,169,057 |#ETREK 6,815 | #EmEFX 91,638
20 |/hAEES 1,274,133 | B4 T EB5 A R BT 5,340 | FEEHERR 87,929
21 EEMEREK 954,361 | & EEERSE)I[ET 5,105 | &R 83,715
22 | E%m 825,158 | K#0m 3,381 |IlIgmHRREK 60,689
23 | R T EBFEARET 732,654 |HUETFIERK 2,552 | R FIEX 60,458
24 | lgmEiER 700,094 |#&#ETH 2,367 |/MARTH 55,193
25 |iBEA™ 620,700 | JIIEFTRRER 2,074 | NETH=ER 43,449
26 |EAXH 551,368 |2 FH 599 | B4A T EB % A R AT 23,151
27 |mE#T 533,884 | & 451 |IIGTHIRRER 15,520
28 |#EHERE 459,071 | RWT 416 |FEIRH 10,795
29 |F~ylaTh 400,374 | R ET 395 |5EFmH 9,615
30 |#&E#Em 388,047 | R _LER AT 137 | E=%h 3,565
31 |sEm™ 265,129 | ZREE )BT 30 | =HARZE LT 1,947
32 | lgmRER 251,508 | = HARZE LT 8 | ZHEE)I| BT 249
33 |#EmHR 225901 | A 1 | A== ] 0
34 | NlgmpRERE 207,323 |HEHEX 0 |#iEmERX 0
35 |MHEREHEX 200,649 | s ERARET 0 | 4% L BB Ak BT 0
36 |EERET 199,647 |#EmBEAX 0 [EEMREZTAR 0
37 | EREE)IIET 169,903 |JIlZH=ERX 0 PilgmhEER 0
38 |lamZERX 128,877 |#ETRL 7 ABX 0 |BEMBTERX 0
39 |#EMmER 79,629 | B4A L EBLLIJLET 0 | R#A_LERKHHHET 0
40 |lsHmERIR 76,871 |HAEREH hRX 0 |#iEmrERX 0
4 |HEETEER 50,718 | JIGT L ERX 0 |HEhBERX 0
42 |#EHRE 46,226 | ZEREEFNIF 0 |#E™™ 0
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BRATRETH TOREERFANMCDIEHEAFTITHEEIDOIEL (FH4FE)

READEMIFT S KigE~DEMMZFT S KA DKEEMIZXET D

BR SHEATTHEHE SHEAFTHIEE HHEAMTHHE

] (10°m?/ ) HRATH 4 (10°L/ ) AT £ (10°L/%)
43 |BEHRLIIAX 43,324 |G EHIX 0 |[HEEHmEAR 0
44 | R#ALEBRFHET 36,241 | B EM KX 0 | EXmH 0
45 |#EmHER 34,054 | EXTH 0 | B KHEET 0
46 |)IETHER 33,470 | AR —=HT 0 | FEEIRE X 0
47 |#EEHBEERX 27575 |HEEMEER 0 g2 ER 0
48 |#ETmHRAX 17,665 | B4H_E AR K HET 0 |ERIRm P RX 0
49 | AR KHEET 13,082 | FEREHHZX 0 | B4F L EB Lk ET 0
50 | =HEREELLIET 10,983 | @47 BRBARKET A LS 0
51 | BAA T &R i%inl [ BT 9,864 |iEE4™ 0 g =ERIR 0
52 | =@M 7,924 |#EETBEAX 0 | #iEm#REX 0
53 | BAA_LER HET 7,280 | EEREITH 0 [HEEmAEK 0
54 |#EEMAR 6,182 | B EMFEX 0 |:mEat 0
55 |EEFmH 2,380 |HEMHAX 0 | EEfE 0
56 |ZEHEE)IF 0 |HEEREHEEX 0 |EEEmHEX 0
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